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ANNOTATION 

Petrov SA, graduate qualification work of the student of group 242. on the topic: "De-

signing of technical service of freight cars with the development of a stand for repairing 

the KPP" 

 

Graduation qualification work consists of an explanatory note on 57 sheets of 

typewritten text and a graphic part on 6 sheets of A1 format. Of these, 2 sheets refer to 

the structural part. 

The explanatory memorandum consists of an introduction, three sections, a con-

clusion and contains 9 figures, 25 tables. The list of used literature includes 22 names. 

The first section presents an analysis of existing technologies of technical service 

and stand structures. Justified the topic and objectives of the final qualifying work. 

In the second section, based on the data from the first section, the technical ser-

vice of trucks is developed, the development of technologies and technical means for 

maintenance and repair, the rationale and selection of equipment, the choice of location 

and premises. 

In the third section, the design of the stand for the repair of gearbox for trucks 

was developed. The necessary structural and strength calculations are given. Also 

measures for safety have been designed. The safety requirements are listed before start-

ing work, during operation and upon completion of work. In this section, the economic 

justification for the design is given. The economic effect from the introduction of the 

device and the payback period of capital investments have been calculated. 

The explanatory note concludes the conclusion on the final qualification work, 

the list of used literature and the specification. 
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